PHYS 102: General Physics 2

Section 1

Closed book. No calculators are to be used for this quiz.

Quiz duration: 10 minutes
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Two long straight wires as shown in the sketch carry current of I =100 A in the 1ndlcated
directions. What is the magnetic field at point P midway between the wires if they are

d=0.1 m apart. }\)O
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PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2015
College of Sciences
Section 2 Quiz 7 16 April 2015

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
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Using the Biot-Savart law, calculate the magnetic field at point P due to the segments of the

current carrying conductors as shown in the sketch. Take the current as I = 4 A and radius of
the circle as R = 0.3 m. You may take = 3. Q‘")\\r\ émixg\\\ 8 i i 3
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Section 3 Quiz 7 16 April 2015

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
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Two long straight wires as shown in the sketch carry current of I = 100 A in the indicated
directions. One wire is along the z axis while the other is in the xy plane. What is the
magnetic field at point P midway between the wires if they are d = 0.1 m apart.
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Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
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Calculate the magnetic field at the center (P) of a current (I = 2 A) carrying square coil made
from four wire segments of size L = 0.3 m as shown in the sketch. You may assume the
segments are infinitely long wires. Y
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Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Calculate the magnetic force on a wire segment of size b = 0.1 m, carrying current

I1 = 2A, due to the magnetic field generated by an infinitely long straight wire carrying
current I2 = 1A. The segment is placed at a distance a = 0.1 m from the long wire as shown in
the sketch.
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